
INGATESTONE & DISTRICT COMPETITION RESULTS 

THE ALFRED CANDLER MEMORIAL CUP 1991 
 

Venue: 1st Stage at 16 Venues over 2-weeks; then a 2nd stage to get 2-players to the final 
Format: 501 straight start double finish best of three legs; Final best of five legs 

 
Stage 1 

Group 1 (Anchor)  
Semi-final: 

Andrew Westcott 0 v 2 Malcolm Barber 
Kath Williams 0 v 2 Derek Frost 

Final: 
Malcolm Barber 2 v 0 Derek Frost 

Group 2 (Robin Hood) 
First Round: 

Pete Moonie 1 v 2 Jack Cann 
Gerry Smith 2 v 0 Geoff Course 

Semi-final: 
Darren Blackwood 0 v 2 Gerry Smith 

Jack Cann 2 v 0 Matt Garrett 
Final: 

Gerry Smith 2 v 0 Jack Cann 
Group 3 (Warley Stars)  
Preliminary Round: 

Bob Vanderhoven 1 v 2 Ken Brewster 
Final: 

Ken Brewster 2 v 0 John Adair 
Group 4 (Alexandra)  
Preliminary Round: 

D Young 1 v 2 Martin Compton 
Semi-final: 

Andy Cole 0 v 2 Roger Brown 
Martin Compton 0 v 2 David Jarvis 

Final: 
Roger Brown 2 v 1 David Jarvis 

Group 5 (Black Bull) 
Preliminary Round: 

Bob Blackwood 2 v 0 L Tween 
Robert Sullivan 2 v 0 Graham Manning 

Stuart Cochran 2 v 1 Peter Sawford 
Semi-final: 

Bob Blackwood 1 v 2 Stuart Cochran 
David Thornby 2 v 1 Robert Sullivan 

Final: 
Stuart Cochran 2 v 1 David Thornby 

Group 6 (Victoria) 
Preliminary Round: 

James Wheldon 2 v 0 John Green 
Colin Hammett 2 v 0 Bill Pinkney 

Kevin Stammers 2 v 0 Deborah Williams 
Semi-final: 

James Wheldon 2 v 1 Colin Hammett 
Kevin Stammers 0 v 2 Michael Cain 

 
 



Final: 
Michael Cain 2 v 0 James Wheldon 

Group 7 (Prince Albert)  
Preliminary Round: 

Carol Hughes 0 v 2 Tony Wallis 
Final: 

Tony Wallis 2 v 0 Des Taylor 
Group 8 (Orange Tree)  

Ron Wood (walkover) 
Group 9 (Baddow Social Club)  
Preliminary Round: 

Trevor Williams 2 v 0 Dave Pearce 
Del Kochan 2 v 1 Dave Revill 
Jason Bates 0 v 2 Phil Neal 

Semi-final: 
Trevor Williams 2 v 1 Del Kochan 

Phil Neal 2 v 0 Brian Rogers 
Final: 

Phil Neal 2 v 0 Trevor Williams 
Group 10 (Alexandra) 
Semi-final: 

Keith Lodge 1 v 2 David Deed 
Colin Tippin 2 v 1 Derek Lodge 

Final: 
Colin Tippin 2 v 0 David Deed 

Group 11 (Black Bull)  
Preliminary Round: 

Len Charlick 0 v 2 Peter Colvin 
Roy Bidwell 2 v 0 Douglas White 

Semi-final: 
Peter Colvin 2 v 0 Tony Shepherd 

Roy Bidwell 0 v 2 Ian Williams 
Final: 

Peter Colvin 2 v 1 Ian Williams 
Group 12 (Orange Tree)  
Preliminary Round: 

Colin Hunter beat Pat Doherty 
David Holland beat Ann Williams 

Semi-final: 
David Holland beat David Miller 
Chris Gibson beat Colin Hunter 

Final: 
David Holland beat Chris Gibson 

Group 13 (Anchor) 
Preliminary Round: 

Len Frain 2 v 0 Ann Humphrey 
Steve Frain 1 v 2 Brian Williams 
Paul Doherty 2 v 0 Steve Peck 

Semi-final: 
Brian Williams 0 v 2 Len Frain 

Paul Doherty 2 v 0 Andy Humphrey 
Final: 

Paul Doherty 2 v 0 Len Frain 
 
 



Group 14 (Robin Hood) 
Semi-final: 

Don Williams 0 v 2 Don Westcott 
Gavin Edwards 0 v 2 Norman Sutton 

Final: 
Norman Sutton 2 v 0 Don Westcott 

Group 15 (Victoria)  
Preliminary Round: 

Dennis Gisby 2 v 0 Errol Moss 
Semi-final: 

Dennis Gisby 2 v 0 Tony Metchear 
Ted Williams 1 v 2 Barry Thompson 

Final: 
Barry Thompson 2 v 1 Dennis Gisby 

Group 16 (Prince Albert)  
Preliminary Round: 

Peter Stanley 2 v 0 Michael Emberson 
Semi-final: 

Peter Stanley 1 v 2 Michael Emberson 
Steve Barnes 2 v 0 Ken Paul 

Final: 
Michael Turner 2 v 0 Steve Barnes 

 
Stage Two 

Group A (Robin Hood)  
First Round: 

Ron Wood 0 v 2 Tony Wallis 
Malcolm Barber (walkover)  

Stuart Cochran 2 v 1 David Holland 
Ken Brewster 0 v 2 Paul Doherty 

Semi-final: 
Tony Wallis 0 v 2 Malcolm Barber 
Stuart Cochran 0 v 2 Paul Doherty 

Final: 
Paul Doherty 2 v 0 Malcolm Barber 

Group B (Baddow SC)  
First Round: 

Gerry Smith 2 v 1 Roger Brown 
Phil Neal 2 v 0 Michael Turner 

Colin Tippin (walkover)  
Peter Colvin (walkover) 

Semi-final: 
Phil Neal 2 v 1 Gerry Smith 

Colin Tippin 1 v 2 Peter Colvin 
Final: 

Peter Colvin 2 v 0 Phil Neal 
 

GRAND FINAL – at Ingatestone CC 
 

Paul Doherty 3 v 0 Peter Colvin 
 
Total Players Entering at 50p Entry Fee = 108 
Total Players Playing = 80 (74% Turn-out) 
 


